A/59/PV.7

%.1 78%%, 7",-89B,%% - 1 G%%$%9<, %9 9%& 65, ,A,
&5?" %%, %$-,=35) %$ 9*+,-&%,%&, 953"96$.

Q,B-CU$"9-%9, 599*A,5369 <9B,3 6%,53&
v J$=A8&1 678%- 6 D39< U$7"$68,%&8&, 59/"$%&6
69°<9B%9538& -8) %$/9B-,%&) ",J,%8&) & &'*,#S)
-,1536&1, ?939"., <O#C3 7"8&6,53& ? CHBC*8,%&=
"$'- 8% 953"'06$ &8& ?
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A/S9/PV.7

0,7939" ., "$19%. <&"$ -9*&8&54 59(&$84%9-
D?9%9<&;,579#9 7"9#",55%. 1-%$?9 <. %, <9B,<
&#%9"&"'96%$34 393 F$?3, ;39 (,8., ",#&%% . O 959-
*,%%9 6 GF"&?, O 73$"$8&'96%% . %&A,391, %,-9,-
-$%&,<, *98,"%)<& & %,6,B,5369<. W<,%%9 79D39<C
W3$8&) *,",3 %$ 5,*) 6,-CAC= "984 6 *9"4*, 5 D3&-
<& %,-C#$<& 6 "$<?$/ <%U9#9539"9%%&/ F9"C<96 &
7C3,< 7"&%)38&) -6C539"9%%N&/ <,™.

0$J& %$"9-. %CB-$=35) 6 *,"97$5%953&. Q -
-98B% . 9*+,-&%&34 5&8. -8) C7"9;,%&) <,B-C%h$-
"9-%9#9
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A/59/PV.7

&/ ;8,%5?&1 5953%6. Q. 699-CJ,68,%. ", C843$3%-
<&, %% -$%% .1 <9<,%3 -953&#%C3 . <& 6 596,"T,%53-
696$%&& FCH? (&9%&"96%3%&) 1,%,"$84%91 G55$<*-
8,4&.
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A/S9/PV.7

%,%%./ 0$(&1, %$/9-)A$)5) 6 5$<9< (,%3", <,B-
_CY$"9-%91 5853,<., %, <9B,3 79698834 5,*, 3%-
2C= 952934, 2$? 9J&*?S.

O$"4*"A/"&" (T+4+/#, 8+-""/%($9:13#): E,1-
:$5 ) 7",-953$68)= 58969 <&%&53"C &%953"$%%. /
-,8 X"$%(C'5791 K,57C*88&?& L#9 2",695/9-&3,84-
536C #-%C Q&J,8= S$"4,.

L =USHT (XUSU(R)) (T+4+7/#, 8+ /%($9:-
13#): V /93,8):
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